 Домашнее задание:

 К -1      1. Решить систему тремя способами 

[image: image1.wmf]î

í

ì

=

+

=

+

.

9

,

9

2

х

у

у

х

                                                  («4»)

2. Решить систему 
[image: image2.wmf]ï

î

ï

í

ì

=

+

-

=

49

,

6

2

2

2

у

х

х

у

 и оформить  решение на компьютере.   («5»)

К -2

1. Решить систему тремя способами 


[image: image3.wmf]î

í

ì

=

+

-

=

.

5

2

,

12

у

х

ху

                                                  («4») 

2. Решить систему 
[image: image4.wmf]î

í

ì

=

+

-

=

12

,

8

6

2

ху

х

х

у

и оформить  решение на компьютере. («5»)

К -3

1. Решить систему тремя способами 


[image: image5.wmf]î

í

ì

-

=

+

=

+

.

1

,

25

2

2

х

у

у

х

                                             («4»)

2. Решить систему 
[image: image6.wmf]î

í

ì

-

=

-

+

=

6

,

5

4

2

ху

х

х

у

и оформить  решение на компьютере.    («5»)
_1420748877.unknown

_1420748879.unknown

_1420748880.unknown

_1420748881.unknown

_1420748878.unknown

_1420748876.unknown

